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B.Com. DEGREE EXAMINATION —
JUNE, 2010.

(AY 2004 — 05 batch onwards)
Third Year
Commerce

COST ACCOUNTING

Time : 3 hours Maximum marks : 75

SECTION A — (3 x 5 =15 marks)

Answer any THREE questions.

1.  Define Cost Accounting.

L 5F NV FRTHHIG GTGTMTE) GTEITE?

2. What are the features of job costing?

Lantl L &85 QFawey (penmUIler DSBIGET WiTene?

3. Write a note on ABC analysis.

ABC u@liurdey penp Lpld GHLIL euays.



Write a note on Overtime.

WBlengLient! Crrbd unidl GHILL er(pgIs.

Define standard costing.

ST 2616 LGa6llane — e TeNVEGHETLD F(Hdb.

SECTION B — (4 x 15 = 60 marks)

Answer any FOUR questions.
State the differences between Cost Accounting and
Financial Accounting.
ILsgallme SaTSHLQSGSD HH  samsdlwuais@n
2 arer Geumuir(haener @GBS,

A company shows the following results for two
periods :
Period Sales  Profit

Rs. Rs.

I period 20,000 1,000

II period 10,000 400
Calculate :
(a) P/V ratio
(b) Fixed cost
(¢ B.E.P.
(d) Profit when sales are Rs. 30,000.
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@ sbuaiuder @rearh STomSEEEETET 69lLIThISET

\Getreu (mHLommy
STOLD clpuener  @evruLd
- -
WPBH STALD 20,000 1,000

@rarr_meug smeod 10,000 400
SATES (S :
(=) umsafilliy ellflgn
(<) Hleane QlFeaayser
(@) Q- plLopp e
(FF)  ellpuener ep. 30,000—60 HlenL_&@D @ae .

From the following data prepare a reconciliation
statement :

Rs.
Profit as per cost accounts 1,45,500
Works over heads under recovered 9,500
Selling over heads over recovered 19,500
Over valuation of opening stock in cost accounts 15,000
Rent received during the year 27,000
Preliminary expenses written off during the year 18,000
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Epsasramid  eleurmsefadipBgs @@ s (HID
Sifsansamus SwWmflaEsab :

1.
SIL &8 llaned saddlen Lilg @ eomuib 1,45,500
<pena CuHEFwe) Gamneuns BLsLILIL L g| 9,500
clmuenar GonEswe| flswns LSl'_a;l;lul'_l_g,J 19,500
SIL &5 s seamssled, < rbu #rélmLiy
Sdlswrs UL iulLg) 15,000
BLLIL| pamTiged Gubm eum_ensg 27,000

BLUL] Qa@migd QsT_&a& Cewajser Basb Gaisg 18,000

The output from process I totalled 5,000 units. It
was considered that 400 units were abnormally
lost. Normal loss allowed was 10%. The other
informations are as follows :

Material @ Rs. 100 per unit
Labour Rs. 80,000

Over heads Rs. 1,60,000
Wastage realised Rs. 50 per unit
Prepare Process Account.

uig — Ier flepmeymm QummLser 5000 i@ s6T 4@ LD.
@;ﬂ@v 400 0@&S6T AFTSHTTEWT HLL_LDTGLD. FTSHTT6uT
UL 10% es56 Oerereriin(hdleamg. Cuoaib
s ellupriger QasrHaslul(Harerer.
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&Ml QUmTHLa6T A0 @ e, ep. 100

2 anwpui em. 80,000

CupLFajsar em. 1,60,000

elanrmesr QUITHLEET epedld 6@ eeTdlEE, h. 50 aigb
QupliuLg.

Ulg SeRTHEMSS SWMT Cl&u1s.

10. The following transactions took place in respect of
an item of material :

Receipts Rate Issue

Quantity Rs.  Quantity
2.8.08 2,000 20 -
8.9.08 3,000 24 -

17.9.08 - - 2,500
10.10.08 2,500 26 -
20.11.08 - - 2,000

Record the above transactions in the stores ledger,
pricing the issues at FIFO.
ECp Qarpssiiul_(Deter  eNUIBISHET 6@  SFFTL
QuUITmHET FTTHSSTGLD.

aubsg el eI  eupmwg

(Semey) €. (Semay)
2.8.08 2,000 20 -
8.9.08 3,000 24 -
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11.

aupsg el aish  euphdug

(tamay) . (Stamay)
17.9.08 - - 2,500
10.10.08 2,500 26 -
20.11.08 - - 2,000

Copsamu  BLealgsmassmer  Uarls  CuCrlige
W3edled GUDmenel (LpFedled efgHen penmudled eT(Lps)s.

Calculate minimum and maximum stock level :
Minimum consumption — 200 units per day
Maximum consumption - 300 units per day

Normal consumption — 240 units per day

Re-order period 10 — 15 days
Re-order quantity — 1,500 units
Normal Re-order period — 12 days.

GOPHS 2AeTa| FTEG How LHHL 2 wWihs ierel
185G Hleane saumadl (s :

GdDHS ere] 2 LGWTSD  — @ BranerdE 200 S @seT

2 WG 6Ty 2 LGUNTED  — e Braneré@ 300 S @ser
FTHMIanT ere] 2 LGUNESD  — e Braneré@ 240 S @ser

m QEmerpsa sred 10 (pse 15 prlger

m QEreTpsa Sjere] — 1500 oo @ser

srgment o CasmeTipse &reob — 12 Br_ser.
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12.

Calculate material cost, price and usage variances.

Standard cost — Rs. 4 per kg

Standard quantity — 20 kg

Actual cost — Rs. 4.50 per kg

Actual quantity — 24 kg.

epeiGlLImmeT SIL GG, aNene, Lwerum(h

Caumuir(haemer seanréd (s :

ST L_S&HD — eh. 4 HCaom epemmis @

sy uwerur® — 20 SGeom

2 arentd AL G&D — ¢h. 4.50 SCeom eemid @

2 arenlo Liwerum( — 24 SCeor.
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